
He (mod 2)

blocks defect matrix

G : 1 10 26× 11
2 3 5× 3
3 0 215041 = χ30, ϕ15

4 0 215042 = χ31, ϕ16

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5 ϕ6 ϕ7 ϕ8 ϕ10 ϕ11 ϕ12

11 = χ1 1 . . . . . . . . . .
511 = χ2 . 1 . . . . . . . . .
512 = χ3 . . 1 . . . . . . . .
1531 = χ4 1 . 1 . 1 . . . . . .
1532 = χ5 1 1 . 1 . . . . . . .
6801 = χ6 . . . . . . . 1 . . .
10291 = χ7 1 1 1 . . . 1 1 . . .
10292 = χ8 1 1 1 . . 1 . 1 . . .
12751 = χ9 1 1 1 . . 1 1 1 . . .
12752 = χ10 1 2 . . . 1 1 1 . . .
12753 = χ11 1 . 2 . . 1 1 1 . . .
40801 = χ13 2 2 2 1 1 2 2 1 1 . .
74971 = χ17 1 2 1 . 1 2 2 2 . 1 1
74972 = χ18 1 1 2 1 . 2 2 2 . 1 1
76501 = χ19 2 2 2 1 1 2 2 2 . 1 1
76502 = χ20 1 2 3 . 1 3 3 2 1 . 1
76503 = χ21 1 3 2 1 . 3 3 2 1 1 .
114751 = χ23 2 4 3 1 1 4 4 3 1 1 1
114752 = χ24 2 3 4 1 1 4 4 3 1 1 1
119001 = χ25 . 3 3 . . 4 4 4 1 1 1
137201 = χ26 2 2 2 1 1 3 3 3 . 2 2
144001 = χ27 2 2 2 1 1 3 3 4 . 2 2
174931 = χ28 1 3 3 1 1 5 5 4 1 2 2
208251 = χ29 3 6 6 1 1 7 7 7 1 2 2
220501 = χ32 2 5 5 1 1 7 7 6 2 2 2
233241 = χ33 2 6 6 1 1 8 8 7 2 2 2

ϕ1 = 11
ϕ2 = 511
ϕ3 = 512
ϕ4 = 1011
ϕ5 = 1012
ϕ6 = 2461
ϕ7 = 2462
ϕ8 = 6801
ϕ10 = 20081
ϕ11 = 24491
ϕ12 = 24492



Block 2: ϕ9 ϕ13 ϕ14

19201 = χ12 1 . .
43521 = χ14 . 1 .
62721 = χ15 1 1 .
65281 = χ16 1 . 1
108801 = χ22 1 1 1

ϕ9 = 19201
ϕ13 = 43521
ϕ14 = 46081


